
PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P0470 WINCH-MAXPULL GM-5 H/D £813.00 £569.10 1

IW-KX6141-21 WHINCH KIT £753.00 £527.10 1

IW-KX1430 RAMP KIT 6'HIGH LT/LM £740.00 £518.00 1

IW-KX0187 C'PART'N KIT TA510G £617.00 £431.90 3

IW-AS6401 COMPLETE AXLE £488.00 £341.60 1

IW-KX5568 8' STEEL SKID PAIR £416.00 £291.20 1

IW-C80814 RUBBER MATTING-HB505R £352.00 £246.40 1

IW-KX5566 6' STEEL LOADING SKIDS £329.00 £230.30 1

IW-P1197601 12V ELECTRIC MOTOR £315.00 £220.50 2

IW-KS0755L BRAKE DRUM KS0755 LONG £280.00 £196.00 1

IW-KS0756 BRAKE DRUM £280.00 £196.00 1

IW-F1818 WHEELNUT-9/16 BSFX3/4I £277.00 £193.90 5

IW-KX0462A ALUMINIUM DOOR AND WIN £258.00 £180.60 1

IW-P11974M MOTOR-FG515 POWERPACK £225.00 £157.50 1

IW-CP00262-06D ALUMINIUM COATED HORSE £222.00 £155.40 1

IW-KX6142-21 MOUNTING KIT £193.00 £135.10 1

IW-F1808 9/16 BSF WHEEL STUD £191.00 £133.70 1

IW-C49503 ALI FLOOR £165.00 £115.50 1

IW-KX6243 MK1 WHEEL CHOCK KIT £165.00 £115.50 1

IW-AS8552 LADDERRACKMESHGD6 £159.00 £111.30 1

IW-C695073B FINPLY GD84M £150.00 £105.00 1

IW-KS30451 HB510 REAR PARTITION A £147.00 £102.90 1

IW-KS30471 HB510 FRONT PARTITION £147.00 £102.90 1

IW-C695017B PANEL £144.00 £100.80 1

IW-P0442 BULLDOG HITCHLOCK £144.00 £100.80 1

IW-P10851 HEAD PARTITION KIT £144.00 £100.80 1

IW-P0851 WHEEL ASSY 185/70R13C £139.00 £97.30 10

IW-KX0480 CANOPY LOCK KIT £136.00 £95.20 2

IW-KX5528 WINCH MOUNTING KIT-CT1 £136.00 £95.20 1

IW-P08891 WHEEL ASSY 195/60R12C £135.00 £94.50 3

IW-C69501B FINPLY 18MM 1220X1965 £130.00 £91.00 1

IW-KS4011L HBX506 REAR TOP DOOR-L £130.00 £91.00 1

IW-KS4011R HBX506 REAR TOP DOOR-L £130.00 £91.00 1

IW-CP00124/1 TOP RHS PANEL SIL/WHIT £125.00 £87.50 1

IW-AS9780 FRONT MESH PANEL £122.00 £85.40 1

IW-KS0827 HUB/BRG 5 STUD 10" £122.00 £85.40 1

IW-P0875 WHEEL ASSY 185/60R12 ( £117.00 £81.90 5

IW-AS0930A SUSP X-MEM W/A FRONT L £116.00 £81.20 1

IW-KS0825 HUB/KIT 4 STUD 8" £116.00 £81.20 6

IW-KS3082L-12B REAR DOOR L/H £116.00 £81.20 1

IW-KX4325 FRONT WINDOW PROTECTIO £116.00 £81.20 1

IW-KX6317 TOOL BOX £116.00 £81.20 1

IW-P0878 WH ASSY 155/70R12C MAX £116.00 £81.20 5

IW-P1896 MULTILED 2 DEEP RH WIT £116.00 £81.20 1

IW-P1897 MULTILED 2 DEEP LH WIT £116.00 £81.20 1

IW-AS1125 T/GATE-MESH BRAVA MAY £111.00 £77.70 1

IW-CP01029 REAR CORNER PILLAR LH £107.00 £74.90 1

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG1



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P04371 HITCH LOCK P6 £107.00 £74.90 1

IW-P0867 WHEEL ASSEMBLY £106.00 £74.20 2

IW-P11974P PUMP KIT FG515 POWERPA £106.00 £74.20 2

IW-P0065 BRAKE SHOES AXLE SET £105.00 £73.50 2

IW-P0841 WHEEL ASSY 165R13C 8PR £104.74 £73.32 8

IW-AS2151 TAILBOARD ASSY LM/LT 5 £100.00 £70.00 1

IW-KX0227 PROP STAND KIT BOLTON £100.00 £70.00 1

IW-KX0484 CANOPY GAS STRUT KIT ( £100.00 £70.00 2

IW-KX6316 PROP STAND NEW TIPPER £100.00 £70.00 1

IW-P0216 BRAKE LEVER KIT 3337-H £100.00 £70.00 1

IW-AS2160 TAILBOARD LM/LT 85 £93.00 £65.10 1

IW-AS2261 DROPSIDE £93.00 £65.10 1

IW-KX0224 PROP STAND KIT (PAIR) £93.00 £65.10 1

IW-KX9802 LOCKING WHEEL BOLT KIT £93.00 £65.10 1

IW-P4664 LED LIGHT £92.00 £64.40 1

IW-KX6310-21 LADDER RACK £86.00 £60.20 1

IW-P11974HS HANDSET & LEAD FG515 P £86.00 £60.20 2

IW-AS4295 HEAD PARTITION W/ASSY £80.00 £56.00 3

IW-C69308 L SHAPED GREY PANEL £80.00 £56.00 2

IW-P0815 WHEEL ASSY 145R10C 8PR £80.00 £56.00 3

IW-P0853 WHEELASSY175R13 £80.00 £56.00 5

IW-AS4919 WINCH BKT (DUTTON) LM/ £79.00 £55.30 1

IW-KX0820 HB511 FULL WIDTH BREAS £79.00 £55.30 4

IW-KX6226 WHEEL CHOCK KIT – TRAN £79.00 £55.30 1

IW-KX8010 LADDER RACK KIT (FRONT £79.00 £55.30 1

IW-P0833 WHEEL ASSY 145/70/R13- £76.00 £53.20 4

IW-P000320 SHOES KNOTT 200X50 (AX £72.00 £50.40 1

IW-P000320 SHOES KNOTT 200X50 (AX £72.00 £50.40 1

IW-P00860 SHOES ALKO 2051 BRAKE £72.00 £50.40 2

IW-P0854 175/80 R13 6PR WH/ASS £70.83 £49.58 1

IW-KX0222 PROP STAND KIT (PAIR) £70.00 £49.00 2

IW-P11974BC BATTERY CABLES £70.00 £49.00 1

IW-P0441 BRADLEY STD HITCH LOCK £67.52 £47.26 1

IW-P0834 WHEEL ASSY 145/70R13 P £65.00 £45.50 2

IW-CP01002 FRONT PILLAR £64.00 £44.80 1

IW-KX8616 LADDER RACK KIT P5E £64.00 £44.80 2

IW-P1047 SHORING POLE (BV85G/10 £64.00 £44.80 4

IW-KS5270 CENTRE PILLAR £63.00 £44.10 1

IW-P0845 WHEEL ASSY 145R10 / HG £63.00 £44.10 1

IW-P0797LED FOG LIGHT FOR GH94LED £62.00 £43.40 2

IW-P00014 RH BRAKE ASSY 200X50 £58.00 £40.60 1

IW-P00374 DAMPER KF27A 87 0031 9 £58.00 £40.60 2

IW-P1087HD BODY CLAMP £56.00 £39.20 1

IW-P11312 SEAL KIT £56.00 £39.20 1

IW-B0184 GALLOP DECAL BLACK £55.00 £38.50 1

IW-C82544 PARTITION SKIRT HB510 £55.00 £38.50 5

IW-P06770 LAMP ST/I/FOG LONG CAB £55.00 £38.50 15

IW-AS7085 EXTENDED CENTRE PILLAR £50.00 £35.00 1

IW-CP00564 INSPECTION DOOR J FRAM £50.00 £35.00 3

IW-KS2695 BREECHING BAR KIT HB50 £50.00 £35.00 1

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG2



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-KX0840 HAY NET RAIL 506 H/BOX £50.00 £35.00 4

IW-KX0841 HAY NET RAIL £50.00 £35.00 1

IW-KX8597 TIE BAR FOR MESH SDS L £50.00 £35.00 1

IW-P1216 SPACER £49.00 £34.30 18

IW-KS26968 BREECHING BAR KIT HB50 £45.00 £31.50 3

IW-KS27218 BREECHING BAR KIT HB51 £45.00 £31.50 3

IW-P0150 COUPLING D201F (FOR P £45.00 £31.50 1

IW-P0474 JOCKEY WHEEL 48MM/SMOO £45.00 £31.50 1

IW-P04751 J/WHL TYRE 75MMX235 DI £45.00 £31.50 4

IW-AS7094 LATERAL BRACE £43.00 £30.10 1

IW-KX6319 LAMP GUARD PAIR £43.00 £30.10 1

IW-AS1712 FLOOR DRAIN C/BOX £42.00 £29.40 1

IW-C71730 M'GUARD SINGLE PAIR £42.00 £29.40 3

IW-P00002 BEARING JRM4249 £42.00 £29.40 2

IW-P0610 MUDGUARD SINGLE 8IN £42.00 £29.40 3

IW-P0820 CENTRE 6J-13 H2 5ST £42.00 £29.40 1

IW-P1886-50 MINILEDIIFOG/REV12/24V £42.00 £29.40 1

IW-P2223 GAS STRUT £42.00 £29.40 2

IW-AS0176 SKID RETAINER BOLT £41.00 £28.70 1

IW-KX9949 SP WHEEL MOUNTING KIT £41.00 £28.70 1

IW-P0608 M'GUARD SINGLE (TT126G £41.00 £28.70 6

IW-CP00325 REAR CORNER BUMPER SHO £40.00 £28.00 2

IW-P1036 RECEIVER TRACKX3.10M L £39.00 £27.30 1

IW-C71733 MUDGUARD SINGLE P6E 13 £37.00 £25.90 2

IW-P119724 MANUAL RELEASE SCREW K £37.00 £25.90 1

IW-KS4491 LH REAR CORNER POST £36.00 £25.20 1

IW-KS4492 RH REAR CORNER POST £36.00 £25.20 1

IW-P0259A DAMPER KIT HU3HE (KIT £36.00 £25.20 1

IW-P0476 JOCKEY WHEEL 42MM/SMOO £36.00 £25.20 1

IW-P1163 SPRING - TENSION LS296 £36.00 £25.20 2

IW-C992085 HB505 F/LH445X1525WHT £35.02 £24.51 1

IW-AS5262 CENTRE PILLAR W/ASSY L £35.00 £24.50 1

IW-C10832 FRONT RAMP PILLAR £35.00 £24.50 2

IW-C20124 SUPPORT BRACKET £35.00 £24.50 1

IW-P1059 LATCH ANTI BURST CATCH £35.00 £24.50 2

IW-P2202 ROTATING RAMP LATCH RH £35.00 £24.50 2

IW-P2203 ROTATING RAMP LATCH LH £35.00 £24.50 2

IW-P067841 LEFT STI COMB LAMPXLON £33.00 £23.10 1

IW-P1035 RECEIVER TRACKX2.40M L £33.00 £23.10 2

IW-C89028 RBR SKIRT 985X640X5MM £32.00 £22.40 1

IW-P0614E MUDGUARD EACH £32.00 £22.40 2

IW-P1810-13G1S1 13PIN +SUZI CABLE £32.00 £22.40 8

IW-AS5263 REAR PILLAR RH W/A LL/ £31.00 £21.70 1

IW-C10762 LIGHT BRACKET £31.00 £21.70 1

IW-C10763 LIGHT'G BKT LH-GX84 (A £31.00 £21.70 1

IW-P1197606 RELEASE VALVE £31.00 £21.70 1

IW-P1885-20 MINILED II DI/STOP/TAI £31.00 £21.70 2

IW-WA00052 RAMP HINGE BRACKET £31.00 £21.70 4

IW-AS2532 HINGE BRACKET W/A £30.00 £21.00 1

IW-P0270 BELLOWS HU12 (50MM HEA £30.00 £21.00 1

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG3



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P07944L SPARE LENS EARPOINT-LH £30.00 £21.00 1

IW-P10580 HANDLE-PUSH BUTTON 930 £30.00 £21.00 1

IW-C11155 TOP DOOR HINGE-R/RAMP £29.00 £20.30 3

IW-C11280 LIGHT BRACKET RH LARGE £29.00 £20.30 1

IW-P0257 HU12 REV KIT £29.00 £20.30 1

IW-P1816 CABLE LH HB506/11 £29.00 £20.30 1

IW-P06778 RIGHT STI LAMP LONG £28.00 £19.60 9

IW-P067781 REAR COMBINATION LAMP £28.00 £19.60 3

IW-P0738-13 SUZI CABLE & PLUG-8 CO £28.00 £19.60 9

IW-AS3140 HINGE BLOCK COMPLETE A £27.00 £18.90 1

IW-AS3141 HINGE BLOCK COMPLETE £27.00 £18.90 1

IW-CP00593 REAR TOP DR SS HINGE £27.00 £18.90 8

IW-P067791 LEFTSTILAMPSHORT-GH £27.00 £18.90 1

IW-P11415H SPARE HANDLE FOR PUMP £27.00 £18.90 1

IW-AS4996 RAMP HINGE BKT GD106G/ £26.00 £18.20 3

IW-KX0206 LASHING RING £26.00 £18.20 4

IW-KX6318 TYE DOWN £26.00 £18.20 1

IW-P07949LED-46 TT FRONT LED MARKER £26.00 £18.20 1

IW-P07967 MIDIPOINT II 0.5FLY 5- £26.00 £18.20 2

IW-P119722 PUMP HANDLE £26.00 £18.20 1

IW-P0699 FRONT MARKER LED GH94 £25.20 £17.64 10

IW-P1113KIT LASHING RING KIT £25.11 £17.58 3

IW-CP00592 FRONT DR TOP SS HINGE £25.00 £17.50 4

IW-P00302 LOCK INSERT KIT £25.00 £17.50 1

IW-P07941LED LED SIDE MARKER LAMP £25.00 £17.50 2

IW-P1630 CLEANER GLASS BONDING £25.00 £17.50 2

IW-C00035 BEARING ADAPTOR SLEEVE £24.00 £16.80 1

IW-CP00281 SAFETY GLASS £24.00 £16.80 2

IW-P0148 CABLE-BRAKE A=2560MM B £24.00 £16.80 2

IW-P0240 REV KIT £24.00 £16.80 1

IW-P04691 2/3 TONNE WINCH-RATCHE £24.00 £16.80 1

IW-P07996 REAR LAMP WITH REV RH £24.00 £16.80 1

IW-P06993 LED REAR MARKER LAMP £22.00 £15.40 2

IW-P07960 SUPERPOINT EARPOINT 0. £22.00 £15.40 1

IW-P07967L SPARE LENS MIDIPOINT I £22.00 £15.40 1

IW-C49460 PADD'G RET'NR HB510R-2 £21.00 £14.70 1

IW-F1099S NUT-3/4 BRT.UNF.TEN-SL £21.00 £14.70 1

IW-F1804 WHEELSTUD - M16 X 58MM £21.00 £14.70 4

IW-KS3740 LASH'G LUG INSTAL'N £21.00 £14.70 2

IW-P00878 DAMPER BRACKET KFG35 £21.00 £14.70 1

IW-P0689 FR POS LED LAMP ASP31- £21.00 £14.70 1

IW-P11974H PUMP HANDLE FG515 POWE £21.00 £14.70 1

IW-P18111 FRONT POSITION LAMP £20.80 £14.56 2

IW-C31275 BOX VAN LEVER HANDLE £20.00 £14.00 1

IW-P11974MV MANUAL LOWERING VALVE £20.00 £14.00 1

IW-B0193 TOY TA510T TRI-AXLE £19.00 £13.30 2

IW-C11403 FOOT PLATE RH LARGE £19.00 £13.30 1

IW-C11404 FOOT PLATE LH LARGE £19.00 £13.30 1

IW-C12105 MESH SIDE SUPORT £19.00 £13.30 1

IW-C12106 MESH SIDE SUPPORT LH £19.00 £13.30 1

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG4



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-C44931 F/RAMP HINGE £19.00 £13.30 1

IW-P1079 OVER CENTRE RAMP CLOSI £19.00 £13.30 3

IW-P11155 PIN ASSY-JUMBO PARTITI £19.00 £13.30 1

IW-P1819 JUNCTION BOX W/O GROMM £19.00 £13.30 9

IW-AS5192 VERT MEMB-NEARSIDE-RH £18.00 £12.60 3

IW-AS5193 SUPPORT HINGE £18.00 £12.60 1

IW-AS5194 VERT MEMB-CENTRE-RH £18.00 £12.60 1

IW-AS5195 SUPPORT HINGE £18.00 £12.60 1

IW-C10536 KEY HOLE PLATES £18.00 £12.60 2

IW-KS4000 MAGNETIC WARNING TRIA £18.00 £12.60 6

IW-P06772 REGISTRATION LAMP LONG £18.00 £12.60 4

IW-P06782B SIDE MARKER LAMP+BKT £18.00 £12.60 6

IW-P06799 JUNC BOX 10 ENTRY 10 W £18.00 £12.60 4

IW-KITM12 CAPPIT BOLT £17.75 £12.43 1

IW-AS3110 MESH LIGHT GUARD RH £17.00 £11.90 1

IW-C11400 FOOT PLATE RH MEDIUM £17.00 £11.90 1

IW-CP30178 BREECH BAR BRACKET-PAR £17.00 £11.90 4

IW-CP30179 BREECH BAR BRACKET- WA £17.00 £11.90 4

IW-F1262ZPK FLOOR SCREW #14X1-3/4 £17.00 £11.90 79

IW-KS0206 LASHING RING £17.00 £11.90 21

IW-P06773B RIGHT FRONT POS LAMP+B £17.00 £11.90 13

IW-P06788/R LAMP 554 OUTLINE MARKE £17.00 £11.90 1

IW-P07941 FLEXPOINT AMBER 0.5M D £17.00 £11.90 1

IW-P07993 NO. PLATE HOLDER LONG £17.00 £11.90 2

IW-C20937 RAMP HINGE LIVESTK 97> £16.00 £11.20 1

IW-C20942Z RAMP HINGE TUBE CASE/S £16.00 £11.20 1

IW-C80737 LONG MUDFLAP PRINTED W £16.00 £11.20 1

IW-CP00589 LH FRONT LWR PANEL £16.00 £11.20 1

IW-CP00590 RH CORNER MOULDING £16.00 £11.20 1

IW-P06774 LEFT FRONT POS LAMP LO £16.00 £11.20 1

IW-P1827 REV LIGHT £16.00 £11.20 5

IW-WA00460 INSPECTION DOOR LATCH £16.00 £11.20 2

IW-EL5212R COMBI LIGHT RH £15.47 £10.83 1

IW-KIT2070 REV STOP KIT £15.38 £10.77 1

IW-CP00586 STIFFENER STRIP £15.00 £10.50 7

IW-AS5094 CANOPY STAY £14.00 £9.80 1

IW-AS5875 P/STAND P6E/GD84GTA (1 £14.00 £9.80 3

IW-C11149SS F/DOOR PL FOR LINCH PI £14.00 £9.80 1

IW-C11956 NO PLATE PANEL LS RAMP £14.00 £9.80 1

IW-C11957 NO PLATE BACKING PANEL £14.00 £9.80 2

IW-C11968 REC'R-RAMP CLOSING HAN £14.00 £9.80 2

IW-CP00323 FRONT LAMP ENCLOSURE-L £14.00 £9.80 2

IW-CP00392 ROUNDPOINT LAMP SURROU £14.00 £9.80 1

IW-WA00157 REAR DOOR HINGE £14.00 £9.80 1

IW-WA00158 SIDE DOOR HINGE £14.00 £9.80 1

IW-C31249 RAMP CATCH HANDLE (FOR £13.00 £9.10 1

IW-F1813 WHEELNUT M16X1.5PX19 D £13.00 £9.10 16

IW-P0221P PAD FOR P100 BRACKET 1 £13.00 £9.10 1

IW-P06770/C LENS-CLEAR REVERSE £13.00 £9.10 1

IW-P06770/F LENS - FOG FL 2&3 POD £13.00 £9.10 16

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG5



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P06770/T STOP/TAIL LENS £13.00 £9.10 5

IW-P07952 LIGHT PLUG GREEN £13.00 £9.10 1

IW-P07953 LIGHT PLUG YELLOW £13.00 £9.10 1

IW-P13294/8 COVER-B/BAR, PVC, 705M £13.00 £9.10 4

IW-P1813 ROUND POINT DI LAMP (2 £13.00 £9.10 3

IW-P1814 ROUND POINT FOG LAMP ( £13.00 £9.10 1

IW-KX8105LOCKSMALL KEY& BARREL £12.50 £8.75 1

IW-C00833 R/DOOR RETAINING PLT R £12.00 £8.40 1

IW-C15071 BOTTOM BRACKET £12.00 £8.40 1

IW-C31250 B'BAR RECEIVER BKT (CA £12.00 £8.40 12

IW-C70461 RESIN DOME IWT LOGO-BL £12.00 £8.40 1

IW-C70462-HB506 RESIN DOME IWT LOGO HB £12.00 £8.40 1

IW-C70462-HB511 RESIN DOME IWT LOGO HB £12.00 £8.40 1

IW-P00037 EYELET £12.00 £8.40 1

IW-P0078 ADJ.SCREW&NUT ASSY.387 £12.00 £8.40 2

IW-P0209H LOCKING HANDLE KNOTT £12.00 £8.40 1

IW-P0212A LOCK'G HANDLE+PAD TJ12 £12.00 £8.40 1

IW-P0591/IB INNER BRG.CUP & CONE/S £12.00 £8.40 1

IW-P0669 LAMP STF BRITAX 9089.0 £12.00 £8.40 11

IW-P06775 RECTANGULAR INT. LAMP £12.00 £8.40 3

IW-P067851 LENS-CLEAR THIN £12.00 £8.40 1

IW-P067851 LENS-CLEAR THIN £12.00 £8.40 1

IW-P1212/B PUSH BUTTON £12.00 £8.40 5

IW-AS2553 BRKT ASSY CTR POST £11.00 £7.70 2

IW-C00036 WASHER FOR ADAPTOR C00 £11.00 £7.70 1

IW-C01703 LIGHT BRACKET PIVOT BA £11.00 £7.70 1

IW-C31270 CLAMP PLATE-AXLE U-BOL £11.00 £7.70 1

IW-C70442 LARGE DECAL IWT £11.00 £7.70 1

IW-P0004 OILSEAL 55X75X10MM. £11.00 £7.70 3

IW-P0841ALCC HUB CAP FOR ALLOY WHEE £11.00 £7.70 1

IW-P1070 HINGE - I/DOOR (BV85G) £11.00 £7.70 3

IW-P12081 BUSH-PARABOLIC SPRING £11.00 £7.70 23

IW-P1304 RUBBER DOOR SEAL A2540 £11.00 £7.70 1

IW-P15804 TOUCH UP PAINT RED £11.00 £7.70 1

IW-P15806 TOUCH UP PAINT BLUE £11.00 £7.70 1

IW-AS4756 HINGE BRKT £10.00 £7.00 2

IW-AS4758 HINGE BRKT £10.00 £7.00 2

IW-C31252 CASTING-B'BAR HOOK END £10.00 £7.00 1

IW-C49781 AL EXT 20603 CNR.MOULD £10.00 £7.00 1

IW-NT6700 BRAKE CABLE 630/840 £10.00 £7.00 1

IW-P00387 BREAKAWAY CABLE 56 000 £10.00 £7.00 1

IW-P0591/OB OUTER BRG.CUP & CONE O £10.00 £7.00 1

IW-P067871 LENS-CLEAR FL MODEL 55 £10.00 £7.00 2

IW-P07960L SPARE LENS MODULE SUPE £10.00 £7.00 2

IW-P1113 LASHING RING RECESSED £10.00 £7.00 2

IW-P12362 M8 PIN AND KNOB £10.00 £7.00 1

IW-AS4779 CATCH £9.00 £6.30 1

IW-B0085 SPARE BULB SET IN PLAS £9.00 £6.30 1

IW-C24220 EXTENSION GATE RETAINI £9.00 £6.30 1

IW-CP00447 TUBE £9.00 £6.30 3

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG6



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-KX01238 TACK PACK KIT BLACK £9.00 £6.30 3

IW-P0003 OILSEAL 43X75X10MM. £9.00 £6.30 4

IW-P04743 R CLIP & CHAIN ASSY KN £9.00 £6.30 4

IW-P0667 LAMP - NO.PLATE 867.31 £9.00 £6.30 20

IW-P06782/1 LENS-AMBER FL FLAT SID £9.00 £6.30 6

IW-P07940L SPARE LENS FLEXIPOINT £9.00 £6.30 1

IW-P1098 LINCH PIN SS (10MM) £9.00 £6.30 1

IW-P1115/P PIN ASSEMBLY £9.00 £6.30 1

IW-P11190 H/BOX RAMP CATCH PIN+C £9.00 £6.30 6

IW-P1309 CANOPY SEAL FLAT £9.00 £6.30 2

IW-P1632/8 BONDING ADHESIVE BLK £9.00 £6.30 1

IW-P1806 13 PIN PLUG £9.00 £6.30 3

IW-C00125 C/PART'N HINGE PIN (75 £6.00 £4.20 2

IW-C00146 AXLE U-BOLT 5-LEAF (3/ £6.00 £4.20 4

IW-C00476 M'GUARD BKT F & R 13IN £6.00 £4.20 6

IW-C00477 M'GUARD BKT REAR 16IN £6.00 £4.20 3

IW-C04664 ROPE HOOK (25X1/4 CON) £6.00 £4.20 1

IW-C12371 M/GUARD BRKT L=27MM £6.00 £4.20 1

IW-C12371 M/GUARD BRKT L=27MM £6.00 £4.20 2

IW-C15841 SP WHEEL CLAMP PLATE-V £6.00 £4.20 5

IW-C70311 SPRING COVER RAMP £6.00 £4.20 1

IW-C80315 BUMP STOP £6.00 £4.20 2

IW-F0003 RIVET 4.8MMX14.6MM £6.00 £4.20 744

IW-F0521Z M8X40 ROOFING BOLT £6.00 £4.20 13

IW-F1932PK CABLE CLIP £6.00 £4.20 24

IW-P0654 LAMP - FOG 738.01.NB £6.00 £4.20 1

IW-P12361 M8 PIN+KNOB - MOULDED £6.00 £4.20 4

IW-C04207 RAMP GATE LOCATING PIN £5.00 £3.50 1

IW-C14737 HINGE BKT RH P6E RAMP £5.00 £3.50 1

IW-C14738 HINGE BKT LH P6E RAMP £5.00 £3.50 1

IW-F1013Z HUB NUT THIN TYPE £5.00 £3.50 1

IW-F1014Z STAKE NUT M30 £5.00 £3.50 3

IW-P00355PP 7 PIN PLUG PARKING SOC £5.00 £3.50 1

IW-P00882 GREASE NIPPLE ADAPTOR £5.00 £3.50 2

IW-P00908 M14X90 BOLT £5.00 £3.50 1

IW-P00939 PACKING SHIM £5.00 £3.50 1

IW-P067852 MOUNTING BASE FOR FL M £5.00 £3.50 3

IW-P06814 FRONT MARKER LAMP (& F £5.00 £3.50 2

IW-P0704 LENS-RED/AMB FOR 9089 £5.00 £3.50 1

IW-P0704 LENS-RED/AMB FOR 9089 £5.00 £3.50 2

IW-C00077 CLEVIS PIN-CENTRE PART £4.00 £2.80 2

IW-C02513 ADJUSTER (M14) - GH £4.00 £2.80 6

IW-C11450 SKID LATCH £4.00 £2.80 2

IW-C17199 HINGE HOOK - FRONT £4.00 £2.80 1

IW-C70446B DEACL RAISED BLACK I/W £4.00 £2.80 2

IW-C74417 HINGE PIN P6E £4.00 £2.80 1

IW-CP00436 M8X35 EYEBOLT 25MM EYE £4.00 £2.80 13

IW-CP00437 4MM GIMLET POINTED SCR £4.00 £2.80 2

IW-CP00463 DOOR STOP BRACKET £4.00 £2.80 1

IW-F0378Z M12 X100 BOLT £4.00 £2.80 25

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG7



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P00053 SPRING 250X40 REF43150 £4.00 £2.80 2

IW-P1030 SPRING RING COTTER 103 £4.00 £2.80 3

IW-P1087A HOOK FOR BODY CLAMP £4.00 £2.80 1

IW-P1099SS LINCH PIN REC'R SS DRG £4.00 £2.80 2

IW-P1105 LINCH PIN REC'R TO DRG £4.00 £2.80 1

IW-P1107 LINCH PIN REC'R TO DRG £4.00 £2.80 12

IW-P1266 STAPLE,CHECKSTRAP 1.75 £4.00 £2.80 2

IW-P1278PK WASHER M8X40 BLK NEO P £4.00 £2.80 1

IW-AS0612 PIN RING £3.68 £2.58 5

IW-C00150 RAMP CATCH STAPLE 50MM £3.00 £2.10 1

IW-CP00570 CAP FOR HANDLE £3.00 £2.10 5

IW-P00044 SHELL £3.00 £2.10 1

IW-P00303 PLASTIC CAP-AVONRIDE H £3.00 £2.10 1

IW-P0074 SPRING 218 737 0003 £3.00 £2.10 1

IW-P05931/AN AXLE END NUT FULL AXLE £3.00 £2.10 2

IW-P0691 REFLECTOR ROUND AMBER £3.00 £2.10 2

IW-P0693 REFLECTOR WHITE RECT. £3.00 £2.10 1

IW-P07995 NO. PLATE HOLDER, LAMP £3.00 £2.10 3

IW-P1004 A'LUCE 3275 1/4X1-5/16 £3.00 £2.10 1

IW-P1007 A'LUCE 'BABY' THREAD I £3.00 £2.10 4

IW-P1009G A'LUCE WT4964 1-1/8X3/ £3.00 £2.10 9

IW-P1229 RECEIVER SP/BOLT TO DR £3.00 £2.10 3

IW-P1311 BEADING TITANFAST BLK £3.00 £2.10 4

IW-P1327 RUBBER-FILLER STRIP A5 £3.00 £2.10 3

IW-B0084 IWT TOW SOCKET COVER £2.00 £1.40 2

IW-B0155 7 PIN PLUG PARKING SOC £2.00 £1.40 2

IW-C00055 TIE RING £2.00 £1.40 2

IW-C00560 HOOK. CENTRE PARTITION £2.00 £1.40 2

IW-C00810 HANDLE £2.00 £1.40 2

IW-C12372 M/GUARD BRKT L=47MM £2.00 £1.40 1

IW-C12373 M/GUARD BRKT L=75MM £2.00 £1.40 1

IW-C12374 MUDGUARD BRKT L=96MM £2.00 £1.40 2

IW-C14898 CATCH £2.00 £1.40 2

IW-C70689 WHITE PIVOT BUSH £2.00 £1.40 2

IW-C75363 RAMP GATE CAPPING INSE £2.00 £1.40 2

IW-CP00348 FRONT RAMP GUIDE £2.00 £1.40 4

IW-CP00366 ROOF VENT HINGE £2.00 £1.40 1

IW-F0123 RIVET £2.00 £1.40 93

IW-F0380Z M12 BOLT CT177 £2.00 £1.40 14

IW-F0464Z 5/8X3-3/4"UNC £2.00 £1.40 27

IW-F0932Z SOCKET SCREW M8X35 BUT £2.00 £1.40 16

IW-F1004ZPK PLAIN NUT M10 £2.00 £1.40 30

IW-F1830 WHEEL BOLT(12MM) £2.00 £1.40 48

IW-KS0206-FAST FASTNER KIT LASH RING £2.00 £1.40 15

IW-P00049 SPRING 200X50 REF 4290 £2.00 £1.40 2

IW-P00052 SPRING 250X40 REF 4162 £2.00 £1.40 3

IW-P00412 NUT M12 10.9 £2.00 £1.40 1

IW-P0072 COVER PLATE 2382610002 £2.00 £1.40 3

IW-P06571 LENS-CLEAR (429 LAMP) £2.00 £1.40 3

IW-P06572 LENS-RED (429 LAMP) 10 £2.00 £1.40 2

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG8



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P0659 LENS-BLACK 12134.00 (4 £2.00 £1.40 14

IW-P1022 MINI-TYE NO. 2 'SOFT R £2.00 £1.40 4

IW-P1228 RAMP GUIDE TO DRG NO C £2.00 £1.40 1

IW-P1230 HINGE MOULDING TO DWG £2.00 £1.40 1

IW-P1246 HINGE PIVOT BUSH TO DR £2.00 £1.40 5

IW-CO2243 PAD £1.99 £1.39 3

IW-EL5227 WARNING TRIANGLE £1.50 £1.05 3

IW-EL5005 12S PLUG (GREY) £1.48 £1.04 1

IW-C70444 LOGO SMALL IW £1.00 £0.70 2

IW-CP00367 ROOF VENT SPRING LH HB £1.00 £0.70 1

IW-CP00368 ROOF VENT SPRING RH HB £1.00 £0.70 1

IW-F0245 HUCK MAGNA-BULB MBP-R1 £1.00 £0.70 15

IW-F0384Z M12X160 BOLT £1.00 £0.70 11

IW-F0932Z-01B M8X35 SOC SCREW SILVER £1.00 £0.70 14

IW-F1091Z NUT-M8 SPHERICAL SEAT £1.00 £0.70 1

IW-F1121Z WASHER £1.00 £0.70 24

IW-F1401Z HOOK BOLT M8 X 60 £1.00 £0.70 4

IW-F1951 CIRCLIP INTERNAL 76MM £1.00 £0.70 1

IW-FT9308 BUNJY CORD 6MM £1.00 £0.70 10

IW-P00051 SHOE STEADY SPRING 200 £1.00 £0.70 2

IW-P00054 SHOE STEADY SPRING 250 £1.00 £0.70 3

IW-P00371 GREASE NIPPLE £1.00 £0.70 4

IW-P0073 PRESSURE SPRING 208880 £1.00 £0.70 7

IW-P0079 PLASTIC GROMMET 373 24 £1.00 £0.70 4

IW-P00896 M12 NUT 8.8 SINTERED £1.00 £0.70 28

IW-P0680 SOCKET GASKET £1.00 £0.70 1

IW-P0696 REFLECTOR-AMBER RECTAN £1.00 £0.70 4

IW-P07955 DC CONNECTOR £1.00 £0.70 21

IW-P1023 CABLE CLIP 'FIR TREE' £1.00 £0.70 2

IW-P1149 HAY RING 50MM DIA £1.00 £0.70 1

IW-P1226 TURNBUTTON PLASTIC MOS £1.00 £0.70 2

IW-P1314 SELF ADHESIVE FOAM STR £1.00 £0.70 1

IW-F1103Z-06A M8X40X2 WASHER BLUE £0.93 £0.65 8

IW-F1402Z HOOK BOLT M8 X 70 £0.93 £0.65 1

IW-F1033Z 5/8BSW HEX NUT £0.92 £0.64 4

IW-C74419 LIVESTOCK PIVOT BUSH £0.86 £0.60 2

IW-F0248 HUCK RIVET £0.86 £0.60 25

IW-P1194 END CAP 4.5X25X70MM LO £0.86 £0.60 5

IW-F0070 RIVET £0.80 £0.56 32

IW-F0932Z-03A M8X30 SOC SCREW GREEN £0.80 £0.56 19

IW-F0932Z-06A M8X35 SOC SCREW BLUE £0.80 £0.56 18

IW-F1103BK BLACK WASHER £0.80 £0.56 16

IW-F1103GR GREEN WASHER £0.80 £0.56 16

IW-F1103SVR WASHER SILVER NEW HB £0.80 £0.56 1

IW-F1103Z-04A WASHER RED £0.80 £0.56 1

IW-C72549 CORNER CAP HB PARTITIO £0.79 £0.55 2

IW-F1409 HOOK BOLT M8 X 140 £0.79 £0.55 12

IW-F1913Z R - PIN 67MM X 3.5MM £0.79 £0.55 2

IW-F0932SL M8 SOCKET SCREW SILVER £0.74 £0.52 7

IW-P1280 ANTILUCE BLACK RUBBER £0.72 £0.50 23

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG9



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-P1281 ANTILUCE WHITE WASHER £0.72 £0.50 10

IW-CP00162 PIN £0.64 £0.45 2

IW-P06799/3 GROMMETBRITAXMEDROUNDH £0.64 £0.45 8

IW-P06799/4 GROMMETBRITAXLGEROUNDH £0.64 £0.45 7

IW-P1231 PLUG-BLACK RIBBED 20X2 £0.64 £0.45 4

IW-P1237 PLUG RIBBED 40X40 £0.64 £0.45 3

IW-F0925Z M8X50 ALLEN BOLT £0.62 £0.43 82

IW-F1033S 5/8 BSW £0.62 £0.43 4

IW-F1085Z NUT £0.62 £0.43 35

IW-F1926 P CLIP (BN5) £0.62 £0.43 42

IW-P00045 PIPE PLUG 200X50 £0.57 £0.40 5

IW-F1080Z 5/8BSW SELF LOCKING £0.55 £0.39 3

IW-F0706ZL SCREW 506/511 D/LOCK £0.49 £0.34 84

IW-F1067Z M16 NUT £0.49 £0.34 8

IW-F0922Z M8X35C/S SOC HEAD £0.45 £0.32 27

IW-F0280 RIVET £0.43 £0.30 31

IW-F0923Z M8X40 SOC HEAD 12.9 £0.43 £0.30 12

IW-F1087Z NUT M6 WING £0.43 £0.30 4

IW-F1230SS S/S SCREW NO.8X1/2 £0.43 £0.30 5

IW-P1235 END CAP FOR SPRING BOL £0.43 £0.30 4

IW-P1090Z M10 SPHEREICAL NUT £0.41 £0.29 4

IW-F0125 1/4 MAGNALOK RIVET £0.39 £0.27 2284

IW-F0126 HUCK AUTOBULB RIVET (A £0.39 £0.27 24

IW-F0058 RIVET £0.37 £0.26 342

IW-F0603Z M6X25 COACH BOLT £0.37 £0.26 42

IW-F1201Z M6 SET SCREW £0.37 £0.26 3

IW-F1263Z SCREW £0.37 £0.26 23

IW-F0290 MAGNAGRIP COLLAR £0.36 £0.25 40

IW-P1245 DECK CLEAT TO DRG NO C £0.36 £0.25 2

IW-P1278 RUBBER WASHER £0.36 £0.25 9

IW-F0372Z M12 X 65 BOLT 8.8 £0.35 £0.25 1

IW-F1125Z WASHER £0.31 £0.22 43

IW-F1202Z SCREW £0.31 £0.22 24

IW-F1508 SPLIT PIN 1-1/2X5/32IN £0.31 £0.22 25

IW-F1265Z SCREW S/T NO14X2 1/2 £0.30 £0.21 5

IW-F1502SS SPLIT PIN £0.29 £0.20 6

IW-F0006 RIVET £0.26 £0.18 137

IW-F0608Z M6X45 COACH BOLT £0.26 £0.18 98

IW-EL5011 SCREW/NUT/WASHER £0.25 £0.18 45

IW-F0053 RIVET 3/16 £0.25 £0.18 11

IW-F0322Z M8X20 BOLT £0.25 £0.18 13

IW-F1002Z 6MM NUT £0.25 £0.18 8

IW-F1104G WASHER £0.25 £0.18 21

IW-F1122Z WASHER £0.25 £0.18 20

IW-F1260Z FLOOR SCREW 14X1-1/4 £0.25 £0.18 1237

IW-F0602ZSI M6X20 COACHBOLT £0.20 £0.14 15

IW-F0704Z M6X16 8.8 £0.18 £0.13 20

IW-F1085SS NUT DOME STAINLESS M6 £0.18 £0.13 384

IW-F1924EA CABLE CLIP 12.7MM £0.18 £0.13 90

IW-F1925 P CLIP 6.4MM (BN2) £0.18 £0.13 7

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG10



PART NUMBER DESCRIPTION RRP EX VAT CLEARANCE PRICE EX VAT QTY

IW-F0311Z BOLT £0.12 £0.08 20

IW-F0507Z M6X35 GUTTER BOLT £0.12 £0.08 3

IW-F1252Z NO.14 1" SCREW POZI £0.12 £0.08 73

IW-F1258Z SCREW NO.14 X 2" £0.12 £0.08 25

IW-F1259Z SCREW NO 14X1.5 £0.12 £0.08 155

IW-F1053Z M8 STAYLOC - NUT £0.11 £0.08 44

IW-F1112Z M8 WASHER NEOPRENE £0.11 £0.08 109

PARTS CLEARANCE - JUNE 2024

CALL YOUR LOCAL HFG PARTS TEAM TODAY WITH YOUR REQUIREMENTS

PG11


